@ Consider the following statements with ' 1- TR Waw & wew # frafafea FoF W few

reference to Uttar Pradesh — , FIfog —
(1) Forests constitute about 12.8% of the total (1) T B g dmifere 85 B T 12.8%
- Beographical area of the state. —_— '
A2The districts of Jaunpur, Ghazi allia -
have no forest land. (2) witFgR, AR SN aferar F P T
Select the correct answer from the code given afy el 21
Code - : e
a) Only 2 b) Nei N -
/‘ nly (b) Neither 1 nor 2 @ F (b} 7 & 1 AT & 2
#) Only1 (d) Both1and 2 | (©) B 1 (@) =¥ 1 79 2
2. Non-conventional energy sources are those 2 IR—UNUR® el Hid 4 € g o f& —
energy sources, that are - b) # g
(a) faregawtaa € (b) Tt
- (@) Produced from  (b) Renewable » |
electricity (c) iy &  (d) SEEIfa €
(U) Non-renewable (d) Produoed from heat
Who among the followlng ‘translated 300 3. ¢ fF=ileiEd F @ g B - @ |z-aalg
volumes of Sanskrit books collected by Firoz Cafram @ €RM Wufd 300 WEpA GRIBT BT
Tuglaq during the campaign of Nagarkot? AT fopa?
(a) M‘ulla Abdul Baqi U:l Azi‘zuddin I'(han‘ (a) TowT gt A (b) SAGAT W
< ::;rza Muhammad _(d) Talib Amuli (©) Pt eeie arell (d) fer s
. What is the theme of the International Day for =~ 4 2022-23 % forg Tt 9= e & forg sRIstg
the Eradication of Poverty for 2022-23? feaw &1 fasg Far &7
(@) “Coming together to end poverty and (@) "8t 3R FewE AT B @ B v e
discrimination.” | AT
_-(b) “Acting together to empower children, their (b) "R FAI B F oY T, qﬁem‘t
families and communities to end poverty.” R W i," PN TR I B A v
(c) “Accelerating global actions for a world : e i ‘
; A (©) “mdl & = gfvar @& dRaw @l F ash
without poverty. AT
(d) “Dignity for all in practice.” (d) "=raER ¥ Wi B farg TR |
5. Which of the following is/are the type/s of 5 el & & B/ @ Prefaer @1/ wor
poverty? B8 :
(;) :bTO{ute poverty — (1) gof (a=m) fonferan
:3; T BT (2) W e
* anf;z:’:' ‘;g::g :2; e P
Choose the correct answer using the code gi
below - i 2 R 17 H 9 9d v & gy —
~42) Only 1and 2 (b) Only 1 and 4 (8) Faer 1 &R 2 (b) aet 1 7d 4
() Only 3 and 4 (@ Only 1, 2 and 3 () #aet 3 T 4 () e 1, 2 7 3
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7.

development, which of the

statement/s is/are correct?

1. Effects of economic development on
oopulation growth. X

2 tffects of population growth in economic
Jevelupment. o

A e il
Select the correct answer using the code given
T t——— $

following

below —
Code - _
(a) Only 1 2 (b) Neither 1 nor 2
{c) Both1land2 ;@1 Only 2
Consider the following events and arrange these
in correct chronological order starting from the
earliest to the last activity —
(1) Appointment of the Drafting Committee
(1) Indian Constitution was addpted and enacted

() Date of  commencement of Indian

Constitution 2.4 SR
(IV) Constitution Assembly first met " \q46
Select the correct answer from the code given

below —
Code - -
@1, n, v, 1 ~AD) IV, 1L

(e) v, 1, @ m,ul, v

7.

Y9

6. Role of Human Resources in Economic 6 mﬁﬁﬁﬁﬂﬁwﬂﬁmwmﬁ%m

# Frefofa soel # 9 317 w1/ vl 28
1. e fAwra &1 s 3fE w g

2, ST gy @1 e Rer w |
99 Rl T I D FER W W SR & 99
aﬁm_

‘a‘,:d'_
(a) Had 1 B)Far1ATE 2
(c) 2T 1 3w 2 (d) Pae 2

AT # FAfer BTG, a9 ygel ¥ oA

Ay g wfafafer 9@ —

(1) wrey afafy @ Frgfe

() wrdra wfaas @ sifiga ok s
T ‘

(1) e e @ wge B9 @ Rl

(V) wifder= &1 @1 g 95

I o T HE @ WE 9T & 99T B —

G :

(@ 1,1, v,

() 1v, 1, 1, I

(b) 1v, 1, 11, 11
(d) m, 1,1, IV

8. Match listJ with list-ll and select the correct 8. F&H @ sl A Ffor @iforg o ey R

(B-1-23] 153101

answer using code given below —.

List - | List -1l
(Diseases) (Factors)
(A) Peptic ulcers (1) Virus
(B) Dengue _ (2) Protozoa
" (C) Elephant Foot~—@& (3) Worm
(D) Malaria ~L- (4) Bacteria

Code - At
(a) A-(4), B-(2), C-(3), D-{1)

~T6) A-(4), B-{1), C-(3), D-(2)

(c) A-(2), B-(3), C-(4), D-(1)
(d) A-(3), B-(4), C-(2), D-(1)

T TE B OYAN FRE WEl ST Bl g

BIfTY —
T - T -1
(cfe) (@RT)
(A) Uftes Fo7 (1) famor
(B) = (2) SreTataT
(C) wrat dfa - (3) B
(D) iR (4) frery
’QZ‘?' -

(a) A-(4), B-(2), C-(3), D-(1)
(b) A-(4), B-(1), C-(3), D-(2)
(¢) A-(2), B-(3), C-(4), D-(1)
(d) A-(3), B-(4), C-(2), D-(1)
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( ) 9.
9. Match list-] with list-ll and select the correct

answer using the code given below the lists -
List - |
Book
(A) Mirat-e-Sikandari
(B) Burhan-e-Masir
(C) Riyaz-us-Salatin
(D) Riyaz-ul-Insha
© List =1
Context
(1) History of Bengal
(2) History of Bahmani’s Ahmad Nagar
(3) Collection of Mahmood Gawan'’s letters
(4) Victory of Gujarat
Code -
@) A-(4), B-(2), c-(1), D-(3)
®) A-(2), B-(4), C-(1), D-(3)
’) A-(1), B-(2), C-(4), D-(3)
d) A-(), B-(2), C-(3), D-(1)

10. Given below are two statements, one is labelled 10

as Assertion (A) and other as Reason (R) -

Assertion (A) - Population control is necessary to
maintain the environment of the
country.

Reason (R) - Due to the rapid increase in

population, the environmental
balance is maintained. ¥

Select the correct answer using the code given
below -

Code -
(@) (A)is false but (R) is true
~b) (A) is true but (R) is false
(¢) Both (A) and (R) are true and (R) is correct
explanation of (A)
(d) Both (A) and (R) are true but (R) is not correct
explanation of (A)
Which among the following organiséfions was
‘> responsible for throwing a bomb at Viceroy Lord
Hardinge in Delhiipexams.in |
(@) All India Labour  *b) Yugantar
Association ~
(¢) United Patriotic (d) Anushilan Samiti
Associatioh

(D) Rarr—s -
g - 1l
fag
(1) &7TeT @1 gfs
(2) 9ERT B IEHETIR & gfaerd
(3) MEHE Al B G BT U
(4) ToRT faor
E{? s
(a) A-(4), B-(2), C-(1), D-(3)
(b) A-(2), B-(4), C-(1), D-(3)
(e) A-(1), B-(2), C-(4), D-(3)
(d) A-(4), B-(2), C-(3), D-(1)
o 77 B E, R 9 ue @ s ()

. 3R IR BT BRT (R) T T —

i "

SR (A)- A9 & GEfRTT B E @ g
forg St =T amavas &
®RYT (R) - e # o 9fey & HRo7 gaie
e a1 Y| ar 8|
T el T e il gy -
-@— .
(@) (A) Tore & =g (R) wewr
(b) (A) W& & fbeg (R) vreral @ |
(©) (A) iR (R) AT W & @R (R), (A) @ T
AT HRAT &
(d) (A) 3iX (R) BT e & freg (R), (A) A T
AT E BN
Prefafen # & @ e el F aoe
mmﬁwwmmﬁmmﬁm?
(a)mmw(b)m

(©) gmﬁéz It (d) s |fafd
e
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12. \Whoamong the following has been named asthA
e Minister of New Zealand in January 2023‘;
o carmel Sepuioni  (©) Cindy Kiro '
o) chris Hipkins (d) Jacinda Ardern

13, which of the following pairs (School of Thought -
proponeﬂt) is correctly matched?
(a) Vaisheshika = (b) Uttara Mimansa -
patanjali Kapila
(c) Mimansa —Kanada (9 Nyaya - Gautama
@DWhen was the Census work done for first time in
India? ’
4a) Inthe year 1871 (0) In the year 1861
(c) In the year 1850 (d) In the year 1881

;. with reference to the scheme wise allocation in
the 2023-24 Union Budget, which of the
following statement/s is/are correct?
(1) Compared to the previous year,
percentage of decline has been reco
the allocation for MGNREGA. ~
(2) Compared to the previous Year, high
percentage of growth has been recorded in

the allocation for Jal Jeevan Mission. X
answer using the code given

Prim

highest
rded in

est

Select the correct
below -
Code -
(a) Neither 1 nor 2 (b) goth 1 and 2
o) Only 2 A only 1
' iggest helicopter

manufacturing plant

one of the following places? 3
@) Nasik, Maharashtra © Chakeri, Uttar
: Pradesh

(d) Tumkury, Karnataka
/ '

(©) Coimbatore, Tamil
Nadu

17, :
( :Nhich of the following
$ not correctly matche b sahajobal - saha)

| (Poetess - Compositlans}

12,
Rt 4 @ ey o, 2023 TS @

13,

14,

15.

(o) fwer 9§ @ G

16.

TR B &Y ¥ g T 87

(@) rte A (0) R B

o B e (@ AT 9
At & @i @ g (@ - 5
W e &7

(8) FoRET — T (b)aﬁ?ﬁﬂm—zﬁfﬁﬁ
(©) At — v (@E)(d) =T — e
wﬁmmma&wﬂﬁfmm

77
(a) 7§ 1871 % (b) 7 18614

(c) o 1&507? (d) af 18814
< T 2023-24 % AR @ TR arde
— AL a1/d

ﬁaaaﬁaﬂﬁwég
mﬁ.ﬁmmqﬁmaqﬁ:aﬁﬁmﬁ

' (b) 3 130 2

@aa1TMeET 2

(c) el 2. (d) et 1
maﬁ.zozaﬁmwa%maggaﬁaﬁmﬁqm
w3 o Sqared frfera § § fw @I W
o o -

(@) 7, TR (b) TR, IR e

(c) B, TiRerTg  (d) TR, Ftes

17, freferen ¥ ¥ BN (wared - qerw) W

S~ fbjw-m_

(c)m-mh (@) % T —
It @1 pfaar

(@) pa ~Vina
M:;iaksai vinay prakaSh
(¢ " y (@ son kumarl = POEM
' ﬁangabal—Ganes £ swarn gell
ev Leela Page 5of 32
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18. All elections to the Panchayats are conducted 18- Gugdl & WawaT gmal & Hele & -
by~ )} Panchayati Raj ) v P et
ion Commission (b} Panchayati Ra |
& Elfﬁf\td?: Commission ST
JF) state Election ) State Leglslature (e) wrog frafem amnT (d) v crawnfiieT
Commission . 7
19. With reference to the recommendations of the 19 duryeh <1 TR areire dgan Wil vl (1977)
Ashok Mehta Committee (1977) on Panchayati o ygE el & vt 3 Frafafe o)
Raj, which of the following statement/s is/are ¥ W wa
correct? . S I
(1) The three tier system of Panchayati Raj should (1) TET XIS D A R 2 & W
be replaced by the two tier system, v e =awr e =ifde |
(2) A block should be the first point for (2) I WR B A e 3 TR P
decentralization under popular supervision - . ] '
below the state level, * _ Rt o1 79 fig arm v |
Select the correct answer using the code given iy T BT ¥ W SR BT WE A —
below - e —
Code - . N : ‘b
@ Bothland2 ) Oniy1 @zl 1qmr2 (o) Bad 1
©) Neither 1nor2  (d) Only 2 | @amiT&H2  (d) Baer 2
20 Which of the following cities of Uttar Pradeshis 20. SR waw & famifaled oesl § 9 39 T 7,
not included as the venue for 11 meetings of 200 ARG B EAIAT B SR G-209 200 FIf 9
:Zin:::lsg gf G-20 during lnd.m:a s Preéudency of the 11 355 & 1T were @ w7 ¥ i 8 22
(a) Agra 45) Kanpur (@) 3y (b) PrTgR
(€) Varanasi (d) Greater Noida (c) IRyt (d) Fex gsT
(. \Charak Samhita is divided into how many 21 =R% Wiear o sEami sk Gsl 7 famfong 87
chapters and sections? | a : :
/@ 120 chaptersand  (b) 80 chapters and (a) 120 3ream @ik 8 We(b) 80 ATy sk 7 wWe
8 sections 7 sections S _
(¢) 100 chaptersand  (d) 60 chapters and (¢) 100 3ream 3R 5 wWs(d) 60 araTy aiR 8 e
5 sections 8 sections _ ' _
22. Human heart is made up of how many chambers? - 22 Hq gEy e e (Gew) @7 qor BT 27
A=) Only four (®) Only one (@) BgeT TR (b) B wH
() Only three (d) Only two () ®aet A . {d) Bae Q)
How many railways stations have been identified  23. BN, 2023 TF IR WS § I R R
for modernization under “Amrit Bharat Station % e ST @ fory Ry Yo
Scheme” in Uttar Pradesh as on February, 20237 YA N wmaw &) TE 82
~(a) 57 (b) 149 (8) 57 (b) 149
(c) 82 (d) 123 (c) 82 © oo (d) 123
24 Which of the following is' mRNA vaccine used 24 Frafafed ¥ ¥ 19 |1 mRNA Yo &8, Rraa
against Covid-19 infection? ST PIS-19 WHwwT & e frar o 27
48) Moderna (b) Sinovac (@) HigwAT (b) R=de
(c) Sputnik (d) Novavax (c) vgefim (d) Srardes :
B-1-23] 153101 Pago 6 ot 32 1 O R



25.

27.

Which officer was known as ‘Bhagadugha’ during 28 4R el semer ¥ “WIgE’ B SHAGRI o417
Vedic administration? (8) STt T W (b) YT PR AT BY
(a) Chief Officer of 1b) Revenue Collector
Forests ‘ SferepT : et
(c) Messenger (d) Chief Officer of the (c) HTaR gAY arer (d) Sfer frT T wer
Gambling o SREE
Department
Match list-l with list-ll and select the correct 27. '\‘ﬁf—l @l iﬁff*llﬁ ‘iﬁfaﬁ W WW$
answer using the code given below the lists : H R e 7E ¥ WA IR g -
List - | - ; LU ‘
(A) Article — 324 () SFFE — 324
(B) Article —315 — > (B) T — 315
(C) Article — 280 ~ % (€) P8 — 280
(D) Article —338 — | m’%@f . .
ist-1l :
(1) :‘:tﬁonal Commission for Schedule Castes (1) ﬁ%m a{;ﬂﬁﬁﬁ oy ST
(2) Finance Commission g; < T ST
(3) Public Service Commission () Prafeer v
(4) Election Commission e
Code- = | 3 A-(3), B-(2), C-(1), D-(4)
(a) A-3), B-(2), C(1), D-(4) ::; iﬁ;i 2:3: r:-:a;, D-:Z)
(b) A1), B-(3), C-(4), D-(2) (©) A{(3), B-(2), C-(4), D-(1)
(© A-(3), B-(2), C-(4), D-(1) | (d) A-(4), B-(3), C-(2), D-(1)
Ad) A-{4), B-(3), C(2), D-{1) o 28, G wwe—2023 ¥ felm &= A (e
28. Which statement is true for Finance Sector (Fisca g & Fr He T a7
Management) in the Union Budget-20237 (a) <rot @Y A a§ @ g @ne qa %ol
(@) Twenty years interest free l0ans o Statestz::al (b) 2023-24 % T A H FA T 55 A
(b) Budget estimates 2023-24 for i o B
expenditure isT S5 lakh Cr- >¢ () 2025-26 % T TS T Y 5.5% W W
(c) Fiscal Deficit 2025-26, the target Is Y FT | S
:fﬂ Zﬁ’gﬁ;t of 3.5% of GSDP allowed for (@ ;h;r.m:s"t.ﬁtl. @ 3.5% ISHIEIT °Ie B ol
29. 'Mi;::esp.anho' is in the form of a dialogue 29 fafers TR o fifere e uF ii’t?g’ firg &
bativasn King Milind and Buddhist Saint. The WY WAE w A ¥ 98 ﬁlﬂj &
i as v
f;";i’:::a:: " (b) Kumaril Bhatt (@) ArMyE (b) HARE W
€) Nagasena (d) Nagarjun () TR ‘ (d) TS

In 1918, the Unitéd Provinces Kisan Sabha was

formed by which of the following leaders?
(@) Indra Narayan (b) Swami Sahjanand

Saraswati v2L
(c) pt. Jawaharlal Nehru (d- Baba Ramchandra

Dwivedi

25. 1918 % wHgwE

yiq e T @1 e e
W fra war 7 fear ar?
(a) 2% AR R4 7 (b) T wEarTs
)+
(c) 4, TIaTER orel V8% (d) &€ IrEE A
J

[B-1-23] 153101
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|30.5

Who among the following has authored the book
“Spare”?

30. Pt ¥ ¥ fred R g Rl ¥

(a) fvr =meet (b) fiw fafera=a
_Aa) King Charles ~ (b) Prince Williams .
(c) Prince Harry (d) Prince Phillip (c) firwr 9 (A fiw o
31. Given below are two statements, one is labelled 31 #R) <1 Ty & R ¥ & @1 AWDIT (4)
as Assertion (A) and other as Reason (R): 3R gEX @ SN (R) HET T 2
Assertion (A) -12 Cheetahs arrived from South aftrpur (A)- Bad, 2023 § 12 Fal BT afém
Africa to India in February, 2023, 3T & HRT ST AT B |
Reason (R) - Restoring Cheetah population is HRT (R) - Haf 9 amErEr By JERAT ARG 6
considered to be a priority for India. ' e 2
Select the correct answer using the code given P & a8 a9 Ffere
below - e bk N
Code - o0 R -
(a) (A) is true but (R) is false ~ (a) (A) &g & fb=g (R) TTeTa ® ~
(b) (A) is false but (R) is true g (b) (A) Terer & by (R) W ©
) Both (A) and (R) are true and (R) is correcﬁ? () (A) 3R (R) ST T & SR (R), (A) B WA
explanation of (A) AT Tl &
(d) Both (A) and (R) are true but (R) is not correct (d) (A) 30 (R). 6T € o (R), (A) 1 HET @mam
explanation of (A) qﬁ'm 8
32. With reference to the Deakin University, which o o 32 Sife favafiemem & wwed §, F=fefRas sl
the following statement/s is/are correct? ¥ 9 o9 ar/9 ud /8
\ndi asan dependenteampen. 1 e e v R
2. Itis being set up in Maharashtrébpexams.im - ?;f el # ﬁ‘ : | bl
Select the correct answer using the code given & g ST XET § |
below — — A & T g a1 g PN FE SR g —
Code - RE ~
~T8) Only 1 (6) Neither 1nor2 "R? (@) Faet 1 (b) 1 T 17 & 2
(c) Both 1 and 2 (d) Only 2 o (€) TMT 1 w4 2 (d) Taer 2
33. with reference to India’s G-20 Logo, which of thég_ B ARG B G-20 WD fore @ W ¥ PR
following statement/s is/arecorrect? S H W B WY wh /& '
1. The logo has lotus with seven petals. Ludlie e & W dafet arar A 2 |
2. The seven petals of the logo represent seven 2. we fores & ?‘Trﬁtﬂ'g%?ﬁ Hd HEgi @
continents. ' 0 wfcfieea sl & -
Select the correct answer using the code giverf A R T e w5 TEART &Y
-y E Al HEl IR B T
)
Code - <) Te — ‘
(@) only 2 _~b) Both 1 and 2 (@) B 2 (b) Bt 1 e 2
(¢) Only 1 (d) Neither 1 nor 2 (c) Waar 1 (@ = & 197 & 2
34. Who among :hebi‘ollowing is the first women 34. e 9 W Wit wiiew frmy 3 @ a9 &
Speaker in Lok Sabha? S
. .
& Meira Kumar (b) Urmila Singh et i i
(c) Sushma Swaraj (d) Pratibha Patil (¢) g RIS (d) wferr wfeer

T



@Atcording to Economic Survey 2023 about 35. Jarelf @ a ¥ anféfe waewr 2023 #, F=faf

services, which statement among the following is

not correct?

a) Credit growth to services is above 16% sincﬁ'

b\ July, 2022.
7

7 transforming financial services. ~

(b) 75 digital banking units announced fom

&
‘IQ *

'(rc} p.M.1. services witnessed strongest expansion

since July, 2022.

{(d)y Fashion, grocery and general merchandise
will be captured nearly two-third of the Indian

e-commerce market by 2030.

36. consider the reign of following Peshwas an
arrange them in chronological order — &
(1) Balaji Viswanath ‘ =
(1) Bajirao !
() Narayan Rao
(Iv) Madhav Rao | ‘
Select the correct answer using the code given.,
below — r_‘:
Code - g
) 1,11, IV, I (b) 1, 111, 11, IV <
CERAL () 1, 11, 1, IV
37. Which one of the following is the largest coal ar.
producing centre of Ukraine?
(@) Kharkiv (b) Zaporizhzhia -
c) Donetsk (d) Kyiv . &3
i - cs 38.
38." Which of the following statement is tru€: =

() Ocean salinity is maximum at

Cancer and Capricorn- X
(b) If the sun, the earth

the Tropic of
ne ey

and the moon areina

straight line then this situatl‘gﬂs A;he situation

of small tide. o

(¢) Benguela current is 2 cold_current of the

\, -

arth every day after

\ (9"Tide comes on the €3=
| exactly 12 hours 30 minutes.

|
|
" @ Who authored th
Poverty”?
» (3) Jean Dreze
(€) Gunnar Mmyrdal

s
c{»‘,l,‘ 36.
oo

Fot § F B W FoT v T
(a) e 2022 ¥ BT T AW 16% 1 FHR

gl

() 75 Rfdrem s gorddl 31w i
Qarit B gt @ fog @ E 2

(0) A as, Jaralt ¥ 2022 Fog W A AU
e <@ 74|

(d) derm. Tl R oFRe wHeEd
ardg o R @ T
frey & AT I T |

ﬁﬂﬁfﬂﬂﬁ?ﬁmﬁa%mﬂwwﬁaﬂaﬁm

qorT S HEPAER Srafterd i —

UEICISIREERIS]

(1) &I |

(111} TRTAVT ]19

(MECERES o

&3 v Ty BE & W& SO I —

@E_

(@) 1, 11, IV, Il (b) 1, 111, 11, IV

© 1,1, IV, @ 1, 11, 1, IV

ﬁﬂﬁﬁgﬁﬂmmmaﬂwmﬁ

FI 6T 87
(a) @ifed () orRfSrET
(d) =

2030 d®

ar foeE

arferera BT & |
(b)uﬁqﬁ,qﬁammwﬁmﬁﬁfﬁrug
Rerfy oy wR & fafar 2
(c) ¥ T FERITR @ TP SU8) HRE-2 |
(d) gedt W wfefes & 12 wR 30 fAFe 418 waR
3T B |

[B-1-23] 153101

« book “The Challenge of World 39. g Yol 3w dee Ufadl” Yww fruw fordl?
(a) wa7 ¥ el '
(b) Amartya Sen e A
(d) Adam Smith » © TR i (d) ven fRmw
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& 81, ey R @ W ¥, Prefad we

40. ith reference to the E.V. Ramaswami Nayakar, 40,
which of the following statement/s is/are ¥ wrar/Q 98 2 /87
correct? (1) 8= arERgNT arered § fewar foran)
() ;:v:;:::pa:ed n t an (2) 51 1925 ¥ W BYg &
A2) He left the congress in 1925. N Ry T ogE F OGN TD GE SR
Select the correct answer using ‘the code given g — |
ot -
2) Only 1 Ab) Only 2 (&) Fae 1 ) ey 2
(c) Neither 1 nor 2 (d) Both 1 and 2 (©) 7 7 1771 & 2 (@ = 1 7o 2
41. |n December, 2022 New Zealand passed the 41. fawmaw, 2022 # =gmilcts o1 srrell N1 & forg
world’s first Law to ban smoking for. next SEYT YR Wi S aren fawa &1 ugell di
generation. New Zealand's goal is to be “smoke- uRE AT Yoilels BT T8 a&
free” BY.ccssarssnsins P ERIERS GOl BT 2|
(a) 2025 ~b) 2029 (a) 2025 (b) 2029
(c) 2024 (d) 2030 (c) 2024 (d) 2030
42. plane of which Airline crashed in Nepal in 42 w=a¥l, 2023 % g vaRemss &1 @9 Aure #
January, 2023? | GHCATI g
(@) Tara Airline - (b) Nepal Airline (@) TRT TIRAZA (b) SgTel TARESH
_{2) Yeti Airline (d) Buddha Airline (c) afey gaReTg (d) g7 THRETET
What was India’s rank in the_wgrld greenhouse  43- 2022 ¥ fa¥d % 19 s=w Wi & Sogol § HRA
gases emission in 20222 (::éb e wIe oy er?
(@ 10t (b) - (a) 104t (b) 127
{e) 11 ~4d) gth (c) 11aT (d) oat
44. A geographical unit that collects, stores and 44 T& WMo s o Ul By FHeal oY B,
release water is called - HEROT B & U9 U Biedl 2, O oy & —
(@) watershed (b) Wet land (a) SrerfawTSTS - (b) g qfy
~€] Water reserve (d) Waste land (o) urht 1 B (d) =ef 9y
45. With reference to the Human Development 45. #ra fawm Ruie, 2021-22?1% e H, Prafarfad
Report, 2021-22, which of the following ¥ Bar HoE v 2 Vit
statement is/are correct? ‘ . '
(1) India’s rank on the Human Development (1) 7 fawms st # i @ St 2020
Index has 2%@ from 130 in 2020 to 132 130 & T=Id 816N 2022 % 1328 7S &
in 2022, . " :
India’s rank on the Human Development (2 AR et 1 R W 2020%
Index has stipped from 130 in 2020 to 132 in 1309 20224 1327 iR "é g
2022, Y UeT g BT SYANT IS el TR BT 997
Select the correct answer using the code given BT —
below —
Code - e -
(a) Both 1 and 2 (b) Neither 1 nor 2 (@) 9 179 2 )T ar 197 & 2
(c) Only 1 ~4) Only 2 (c) Baar 1 (d) aet 2
(B-1-23] 153101 Page 10 of 32
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Which one of the following is not true about the 46. @w1g wie 2023-24 ¥ Bl % )

total outlay in the Union Budget 2023-24?
() Interest payment- (b} Subsidies (9%)
0%)
State share of taxes (d) Defence (8%)
and duties (18%)

Match list-l with list-Il and select the correct 47

answer using code given below the lists -
List - | , '
(Theories of Population

(A) Optimum Population Theory

(B) Social Mal-adjustment Theory

(C) Demographic Transition Theory — 2

(D) pPopulation-Food Supply Relationship Theory—2

List- 1l
(Propounders of Theories)
(1) Thompson.
(2) Malthus
(3) Edwin Kennan
(4) Henry George
Code - _
_a) A-(4), B-(3), C-(1), D-(2
(b) A1), B-(2), C-(3), D-(4)
() A<3), B-(4), C-(1), D-(2)”
(d) A{2), B-(3), C-(4), D-(1) |
. Which of the following is an insectivorous plant?

(a) Nelumbo ,(bl.Nyctanthes
(c) Nicotiana (d) Nepenthes

. The river situated along the border between the
United States of America and Mexico is -

(a) The Colorado (b) The Amazon
(c) The Mississippi _id) The Rio Grande

0. which one of the following (Passes - states/U.T.)

is correctly matched?
}H Niti — Uttarakhand

)/"

(b) Aghil - Arunachal
pradesh

(c) Mana— Himachal (d) Diphu~— Ladakh

Pradesh

48.

49,

50.

51.

¥ BN | FUA a7
(a) =TT A (20%) (b) wfewEt (9%)

(c) i 7d et A Ww(d) e I (8%)

@t AfEn (18%)
ﬁﬁ—:aﬁ@.auﬁmaﬁmaﬁvﬁm
Tq e &1 TN B gY el S gAY —

& -

(T & fgia)
(A}WW@TW
(B}WWW
{c}aw‘wwmﬁ
(‘D)W—mﬂmﬁmﬁ

wEr -1
(Regicit @ HfITE)

(1) g

(2) ATcerd
(3) gsfas &

(4) BT TS

ﬁc\d —

(a) A-(4), B-(3), C-(1), D-(2)
(b) A-(1), B-(2), C-(3), D-(4)
(c) A-(3), B-(4), C-(1), D-(2)
(d) A-(2), B-(3), C-(4), D-(1)

ﬁmﬁrﬁaﬁﬁﬁﬁa@mw&? :
(a) gl (b) Fraefer
(c) fApifeaTT - (d) FuferE

ﬁgﬁ-maﬁﬁmmﬂﬁmﬁﬁzﬂa@mw

fRerey 7T & — |

(a) IR (b) ST

CREIEIEE (d) R mie

Preffaiad 3 & P W 0F (@ — 90/ D

wiRre ww) e g &2

(ﬂ)m—m (b)m_m
gyl

@W—fﬁmﬁam(d}m-m

51 Trophic levels ére formed by - diy &Y g7 & —
Organisms linked in (b) Animals only (a) wTer siger
food chain & Fﬁ;&l‘;; @fﬁ (b) Paer mﬁ%ﬁ Jq
(c) Carnivorous animals (d) Plants only (c) Baer AR
L o™ | i ¥ (d) Faa e @
[B-1-23] 153101 Poge 11 o 32 _



52/ Which of the following (Union Budget 52 fr=faifed & & @19 & (@< Twe oy
Departments 2023-24 - Allocation amount 2023-24 — 3G smdfes af¥ ) w&
, approx. ) is correctly matched? & :
Xfa) Dept. of Health Research — ¥ 9,155 Crore (a) varen T faPT — 9,155 IS 2
/b} Ministry of Health —¥ 89,155 Crore,. (b) TRy HATAY — 89,155 FIS T
(¢) Dept. of Health and Family Welfare —¥ 80,000 () Wed 7 YRAR HMT FATT — 80,090
Crore Hﬂﬁ@ 7
(d) E:t::a; Mantri Jan Arogya Yojana ?S,UQO @ & o e T .
With reference to the post’sin Secretariate of the  53- ¥Wg & wifyarerw # uet & wew & frer ¥ 9
Parliament, which of the following statement/s P/ Tt ) &/
is[are correct? ) ‘ﬂTﬂE " T - fﬁ . 3 m
(1) Common posts may be created for the .
Secretariate of eacﬁ House of Parliament.™¥" wifeaferd wal @ ﬁﬁfﬁ ERACIRETIES
(2) The Parliament has right to regulate the (2) HHE BT o B N wET & whEed
service conditions of Secretariate staff of wiE 3 W@ vE @1 Rfafa 5 @
either Hous«eﬁaf it."t' IR B 2|
z::,c; ihe correct answer from the code given PN ﬁ?’ T e & W IO o PR
Code - L s , |
() Neither 1 nor 2 (b) Only 2 (@ = & 197 & 2 (b) Haer 2
(c) Only 1 ~d) Both 1and 2 (©) Fger 1 (d) |=F 1 T2 2
4. On 25™ December, 2022, which of the following 54 25 fawmar, 2022 @), Fr=ifeRag & & Bg 29
countries extended mandatory Military Services TR 1 57, 5005 3 . o gy ol & P
for one year to those males who were borﬁ after @ 7€ 2 W a7 s B @ 82
01 January, 20057 ‘ .
(a) Afghanistan y* (b) Myanmar ~ (@) W ®) W
(¢) SriLanka 7 Ad) Taiwan (e) #eient . @ TrEEE
55 Who is the Author of the famous Novel “All the 55 wifew swedll REBR, 2022 wrq @ @@
Lives We Never Lived”, which received the g SURRT eife € Wige & o s @
Sahitya Akademi Award, 2022? _ AGF B &7 |
_A2) Anuradha Roy (b) Shobha De ~ (a) argRmET " (b) T ©
(c) Anita Desai (d) Sudha Murthy () st grE (d) e
56. Which type of vaccine protect against 56 frg W @ ET fewiifar 9 q=mar &7
Diphtheria? ofL . (8) THARTAL. (b) aTERel AT
a) mRNA 7 (b) Viral Vector »-
IC) Toxoid 7 ~d) Live-attenuated ) s ) e HEFRES
sl e 120r32 1
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57. The aquatic plant commonly used as bio fertilizer
ot it

in the water-logged rice field is -

,,‘g] Azolla

(c) Wolfia

Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R) -

Assertion (A) -

(b) Lemna

(d) Trapa

the Parliament to change the
boundary of any state after
seeking views of the concerned
Legislature of that state on the
subject within specified period.
Reason (R) - It is not mandatory for the President
to accept the proposal of the
concerned State Legislature.
Select the correct answer using the code given
below -
_ka) Both (A) and (R) are true but (R) is not correct
explanation of (A)
(b} (A) is false but (R} is true

The President can recommendto .

57. el oy Ry et wifad 91 @ W@ W

Srg—adve @ w9 § g W or o 8, 98
&

(a) Yt (b) FrT
(c) A (d) grar
58, o o & R @ P a1 e (A) IR
TR B RV (R) BT AT — |
afRmerE (A) — R Yo @ G gger @
mﬁmmﬁrwzﬁ’rﬁ%
woq @ fErEEsd gRT S¥
T ) AR T@ @ st
- 'a%wﬂavmawﬁé‘n
W(R)—Wﬁraﬁﬁmﬁﬂﬁﬂﬁﬂ
o e ST it T8 E
A Ry Ty e ¥ wE W @ e -

(@) (A) 3R (R) 2T T & R (R), (A) B EE
@ e R § ‘

b) (A) 7T & fbeg (R) 6 &

o) (A) 3R (R) BT W & &R (R), (A) @ el

(c) Both (A) and (R) are true and (R) is correct s
explanation of (A) (@) (A) e & frg (R) TR 3
~ (d) (A) is true but (R) is false (A) (R)
59, Which of the following is known as laughing gas? 58. f?l'-"iﬁi?ﬂl@ﬂ L %M; T’:'@ a1 He Al T B
. WY H Wl idr
(a) Carbon Monoxide 9) Nitrous Oxide (a) BT AT sifgargs (b) g IffFEe B
. Ll
(¢) Chlorofluro Carbon (d) Ammonia
(c) FARIGARY HTd DI (d) SHIFAT B
8. Who was the leader of rebellion in Bareilly, Uttar 60. 1857 # aXel, TTY ¥l # WHifcl BT T B o7?
Pradesh during 18577 g ’ . .
(@) Nana Saheb * (b) Kunwar Singh aa . (b) v Rz
(¢} Hazarat Mahal _{8} Khan Bahadur Khan (c) BuT Hew (d) &M FBIER @M
;I
Which of the following is not a part of the 61 frifeied & § oI wredra Wwm & amede
':\rtlcle 20 of the Constitution of India? 20 &1 fewar 7Ef 87
% Double Jeopardy' (b) Prohibition against (@) S TUs B AR (b) v Rog
)g) E‘Buse Self Incrimination |l B W
ohibition Against (d) Ex-post Facto La o g
Torture x-post Facto Law (c) a%ﬁ-\saﬁr&ad)amnmm
B-123] 153107 L
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62. With reference to the Attorney General of India, 82 RG & HeTraTd & Wef ¥, Freififae oy
which of the following statement/s is/are A PH A/ TR /&
correct? _ (1) TETTAI % 0T o W i @) frghy
(1) A person is appointed as Attorney General, LR R i - g
who is qualified to be appointed as a Judge of qraerd
the Supreme Court. IE'EW BN & fere aifde & .
(2) The Attorney Genefdl ‘tan be removed (2) TR B D U o 9 whkar
through the same process as the Judges of the BCHT &7 Hadl & oY f5 9=ay AT &
Supreme Cou e 3 '
zeél:;t‘ ihe cWrom the code given 4 fag T e 3 ‘ﬂﬁ IR BT TG D
Code - R~ o
(@) Neither 1 nor 2 (b) Only 2 (@adriar &2 (b) @aer 2
(¢} Both 1 and 2 ) Only 1 (©) g1t 1 7 2 (d) Baer 1
63. By which year the target of population stability 63. wra 3 TTEE W BT @eg g 9 g
has been fixed in India? , Fuife fsar mr 22
(a) Year 2080 A8) Year 2045 (a) 7 2080 e (b) @ 2045 a®
(¢) Year 2070 (d) Year 2075 (¢) = 2070 & (d) a9 2075 @
64. Which one of the following pairs (Schedule - 64. = T | B g (Gfaer ot ST
Subjects) is not correctly matched? — faw) wd e = &2
43 Ninth Schedule — Allocation of seats in the (8) 74T sl — v ¥ I} BT ades
- Council of States - : - q A "
(b) Third Schedule — Forms of Oaths or PN LT @y
Affirmations (c) amedl SR — o
() Eight Schedule — Languages )T SR - T Rl @ smR w
(d) Tenth Schedule - Provisions as to S
disqualification on ground of defection
85. Match list-1 with list-ll and select the correct 5. - B A F G AT g i &
answer using the code given below the lists — A e W™ BE H FE T BT TG99 Hifsg —
List - 1 : -
(Sustainable Development Goal) (e fre )
(A)SDG-10 ~ 3 . (A)TaEIS. - 10
(B)SDG-13 — | (B) THAH, - 13
(C) SDG - 14 (C) THENG. - 14
(D) SDG - 15 (D) TSI, - 15
List - Il -1l
(Related With) (evaf)
(1) Climate Action (1) Sierary fma
(2) Life on Land (2) 59 9= Sfhaw
(3) Reduced inegualities (3) SRl H A
(4) Life below water (@) 9t & A F e
Code - awe - .
(a) A-(3), B-(2), C-(4), D-(1) (a) A-(3), B-(2), C-(4), D-(1)
(b) A-(1), B-(2), C~(3), D-(4) (b) A-(1), B-(2), C-(3), D-(4)
(c) A-(2), B-(3), C-(1), D-(4) (©) A-(2), B-(3), C-(1), D-(4)
A A-(3), B{1), C:(4), D-(2) S 3l 1), 44 B2
[1:1“23] 153101 Page 14 of 32
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§6. Which among the following is a constituent of 6. Fr=iffa # ¥ wpfw Yww @1 1@ e FA
natural silk? | ¥
(a) Phosphorus (b) Potassium () BrEpRE (b) rfRraw '
ey Nitrogen (d) Magnesium (¢) TEEroT (@) AR
@ On which of the following, proved charges the 67. frfafag & @ fow fog a9 @ MR W
finance Minister Nadhim Zahawi was sacked wRad 2023 B Ry wrEA FH GTP AN
from the Government in February, 2023 by the ?ﬂ‘ﬁ TwRER Y A TEm e @ §el fem
¢/ gritish P.M. Rishi Sunak? @) & (o) & e
)g.l. Disclosure of Secrecy (B} Sex Scandal T ST B
of the Cabinet : & FRI
. (¢) Tax Scandal (d) None of the above (c) & TS (d) Sugfa 7 9 g T8l
68. The Indian Biologic is being setup 68 Wl e Se1 d e I ¥ werfie BT
in which state? Forndohpodk o7 eT &2 ‘
(a) Gujarat _Ab) Haryana (a) TorRTd (b) sﬁ!ﬂ“ﬂ
(c) Uttar Pradesh (d) Punjab (c) TER wad (d) goTrd :
@ Mount Newman’ is famous for which of the 69. ‘mrgve wpw Frfara & fore @i @ for
following minerals? uftig 87 |
#(a) Copper - (b) Manganese » (a}) g 5:)) W :
() Iron ore » _Ad) Bauxite (c) & aﬂﬂiﬁ CIERIET
70. ‘Which of the following is not an economic - 70- fefeiEd 3 & = o anfefe fHar el 87
activity? o) Farmi | (@) it o A -(b) e (@)
untary Social arming :
ﬂ:r'vice N () A (d) aRae
(c) Service (d) Transportation - : |
1. wWith reference to the Puranas, which one of the 7% g\;’f; jf it ¥, Pt ool o ‘\i? .aﬁ?@n
following statements is correct? .
(1) Inforgmation about the wjﬂﬁw Is mﬁs‘g =TT W arf g1 @ S Ao 1
found in the Vishnu Puran. | " (2) arg TRV T o ) YT AR U% YT
(2) Vayu Puran throws light on the Gupta’s <terar &1 |
governance system. ﬁ;—onl ) (4 Bt 17T 2 ) P 2
"‘maofhla"“ :v (c) 7 & 197 &I 2 (d) Baet 1
(¢} Neither 1 nor 2 (d) Only 1 ' |
72 Which of the following (Scheme — Year) [s 1% 72. Frafafea § ¥ BW tE (@ — ad) w8
correctly matched? m Tl %? | P
(a) Sansad Adarsh Gram Yojana - 2014 - * (a) \iEg Sa¥l UM ST — 2014
«(bDeen Dayal Upadhyay GMaWa (b) €17 TSl SUTEARy WA tere AT —
Yojana - 2014 2014 |
(¢) Shyama Prasad Mukherji Rurban Mission -
2013 ’ (¢) waTT WTE YRSl word e — 2015
o (d) Rural Housing Interest Subsidy Scheme - 2017 (d) T ETORIT Seve WRES W — 2017
[B-1-23] 153101 Page 15 of 32
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73. What do we. call balancing the need to use T At
resources and also conserve them for the future? ? STeIaT BT e X P §H T PEd
(a) Resource » _b}-Sustainable £
conservation development (a) FETEF Ve (b) wrera faere
(c) F%re resot::ces (d) Reduci}nrg (c) W=y & ST (d) T ¥ HHT BT
Ny 7tonsumption | ol
4. Consi@' the following statements concerning 74, Ay Seaaw ArTed @] Al e _éll A E‘FI:
the p@ers of the Supreme Court to issue certain ::?7_" ® f?qﬁ ﬁc‘;’;’:‘rﬁ Fe B Al b
writs to stop violation of Fundamental Rights — BT e
(1) The Supreme Court has power to issue writs (1) E‘ﬁlﬁﬂ YT B UE e e g f& a8
like Habeas Corpus, Mandamus, Prohibition, O §E yegeeRvr, RATRY, WiuE, 3@@"? -
Quo Warranto and Certiorari which is geor ok Seme Re, o A qd (”T@m,aﬁ
appropriate __for . the = enforcement  of - o v B forg wHfea 8, 99 fRe &1 wam
FuRBamental Rights. FN HDHA "_%I
(2) Pdillament may by law empower any other (2) §OE BT AWHR & b 98 DI 977 DY feit
cof to exercise within its jurisdiction the S ST BT A aferpRe  wIHg
powers given to Supreme Court. HAramif @ Aoy S ey CaRA R FR ]
Which of the above  mentioned gifder} &7 YERT B T | '
statement/statements is/are correct? SRIE BT O BT/ Y 9 9El & /87
Select the correct answer from the code given 9 ffy T ®E § ¥ WEl 9TR @ =9
below — Ffg — \
Code - ‘ e —
(@) Nfither1nor2  (b) Only 1 () =1 T 17 & 2 (b) Baet 1
() Orglag 2 —4d) Both 1 and 2 (c) Bae 2 (d) 1R 2 ST
75. The ‘PYSAR satellite” is jointly developed by 75. "Frar suue” fr=feRan # & 5 wweal g
which o the following organizations? T vgE w9 ¥ fAetaa far mn ev
(a). ESA and NASA (b) ROSCOSMOS and (@) $uwy. AR FraT.  (b) IHTEEN SR o).
CNSA g, : )
__Ac) ISROand NASA ~ (d) ESAand ISRO (c) FaRT SR =T (d) STHT. 3R FE
76. Whictwf the following statement is correct? 76 f=faRaa weAl J ¥ 19 W wd 87
(1) Rabm-Ganga river joins the Ganga at Kannauj. 7 (1) ’ﬂ’; T AEY B & U I 8T ¥ e
(2) Riv&r Betwa joins the Yamuna near Prayagraj X | ' ;
Selectdhe correct answer using the code given (2) %I EII" T WATRIS & 9 AT 74y 3 ferd
o SRS — :
o il 9 R T gE ¥ W 9o gy —
Code - e —
(a) Only 2 (b) Neither 1 nor 2 (a) et 2 (b) 7 &Y 1577 & 2
~AC) Only 1 (d) Both 1and 2 (c) Baer 1 (d) 5} 1 qeT 2
77. With reference to the invaders in anclent India, 77- WFEIN @9 @ ARG U SMHA @ waw #,
which one of the following is the correct R "
- | feprferae T ?
chronological order? Ud el PIATIHH &
(a) Greeks — Kushans — Sakas (a) A — HEToT — YIB
(b) Sakas — Greeks — Kushans (b) ¥ — AT — FETT
Ac) Gregks—Sakas_—_—jushans (c) !Eﬂ':ﬁ — /& — AT
(d) Sakas — Kushans — Greeks (d) ¥rp — T — FAFR
6 of 32 ‘ ‘
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'Bv which of the following Acts, the system of 78 fmiferfag § & farw aifdfogs g 120 HaHd

\

‘Chamber of Princes’ with 120 members was
created?

Aa) Charter Act of 1853 (b) Act of 1919 ¥

c0
=
7,

TSt R e B @ eraven @1 Mg AT
() 1853 37 TER ae  (b) 1919 @ AfAIH

(6) Act of 1909 (d) Act of 1793 ‘ (c) 1909 T aMdfram  (d) 1793 T <
79. 'Which of the following hormones is secreted by®3 79. fwiferfae # e g e @ FREd
the Beta cell of Islet of Langerhans of Pancreas? gmﬁgfg # drer e (@R & e
(a) Glucagan’ (b) Adrenalin (a) "o (b) IR
_e) Insulin (d) Aldosterone (c) Sqfer (d) N
| | , . ?
80. \Which of the following elements is not a Noble  80- Rrefafea § @ @9 | ad Higer g el ©
gas? (a) @l (b) TfrfE
~1B) Actinium B ' T
22; S:f::on (d) Rac:onu E (c) B (d) .
| o ¥ Fer g9
With reference to'the Pope Benedict XVI, whobs 81 9T ﬂ?’l‘%‘&f wIeTed, E"‘i’i gty
died recently, which of the following statement/s&3 & wed ¥ fFefarad Ul |
is/are correct? < g/ i
1. He was a native of Ge . N l_agmﬁzgziaﬁarﬁ I i
2. He was the first Pope to resign in 600 years..~ 2. g8 600 9l # gwfeT 29 e vEw '
Select the cower using the code given S R T W & wE IR -,iﬁa —
below — | | e — .
Code - ) w1 '@_ {ﬂ)ﬂ?ﬁlq_d'ﬂ (b) A 1
(a) Both 1and 2 Only = gaqimdz (d) B 2 |
(c) Neither 1nor2  ~Ad) Only 2 ) 5 & @ o R Sy fafE &
' s the most© 82 ferferfRas e
82. ‘Which of the following factor Is e mONST @ A R e 2
important factor for the Iostiof bnodlt/ers, fv o e P : (b) et AT Bl
(a) pest control ) Destructlon.o AEER i ~r'
natural habul:;aﬁon © araf q¢ P (d) Wﬁzﬁ
(c) Control of predators (d) Genetic assimii @ AT
) - F:as.q‘m‘iﬁmqﬁaﬁﬁﬁmﬁnﬁaﬂaﬁm%—
. onsible for
8. The Xylem in plants s ' resP b
: . 0 - (a) Ao (b) gfa=T TS
transporting - ) id (]
(a) Food (b} Arnino.AS T @ wa (d) sifedisT
, (d) Oxvgen o _
A Water prahar Army 84 fiay, 2022 # “qeeiF WER ¥ IpTg” HEl
E’ Where was the "Sudarshatrl‘ier 2"022?‘ : Cora T 417
r feal . i em ' {
:'E:)ercise carrieiout mf‘:;: Rajasthan (a) IER WY (b) 3ToT=IE
(© gﬁtj:::tmdes (d) Madhya Pradesh (€} erm (d) 7 yew
' 85. fpeliure=a ¥ WRTe vd
& 7o whom does the credit BOES f°" the ¥ d T @ N fAeN &
development of coconut and sugarcane S fred) oraT 27
agriculture in Philippines? » 33 .
(8) Hollanders (b) Britishers () EAvsarEl B (b) feearEt @Y
[ Spanishang (@ French b X (o) v
\Ameﬂcans _ v , P |
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86. Make the pairs of chief rivers of their place of 86

origin —

Rivers Place of origin
(A) Yamuna~ & (1) Sihawa T
(B) Krishna - % (2) Nasik i

(C) Godavari — 2 (3) Mahabaleshwar
(D) Mahanadi — |  (4) Yamunotri

(a) A-{4), B-(2), C-(3), D-(1)~

(b) A-(4), B~(2), C-(1), D-(3)

(c) A-(4), B-(3), C-(2), D-(1) -

(d) A-(1), B-(2), C-(3), D-(4)

v 2 e ARt 7 ST ST Il B TR

sfeat [T W
(A) T (1) R
(B) FEI (2) =
(C) TrETas (3) FETHAYAR
(D) HETTEY (4) T

(a) A-(4), B-(2), C-(3), D-(1)
(b) A-(4), B-(2), C-(1), D-(3)
(c) A-(4), B-(3), C-(2), D-(1)
(d) A-(1), B-(2), C-(3), D-(4)

87. Match list-1 with list-ll and select the correct 87- eI &I Il ¥ yafer fdre qer e
answer using the code given below — 9 Ry Ty FHe ¥ el ST gfg —
List—1 List-ll a1 piciadl
(Mountain) (Countries) (‘Fﬁ‘f) (%‘T)
(A) Kilimanjaro — & (1) Morocco (A) freimaTRY ' (1) ARa®!
(8) Toubkal - | . (2) Algeria (B) SHPH (2) sresfifRar
(C) Stanley — ‘1 -(3) Tanzania (C) wTell (3) amﬁzrr
(D) Hoggar — ¢ (4) Uganda (D) EF IR (4) grsT
Code - —— B — . '
4 (@ A-(4), B-(2), C-(3), D-(1) () A-(4), B-(2), C-(3), D-(1)
(b) A-(3), B-(4), C-(1), D-(2) ~(b) A-(3), B-{4); C-{1), D(2)
&°) A-(4), B-(3), C(2), &{1:J ) (c) A-(4), B-(3), C-(2), D-(1)
—+4 A-(3), B-(1), C-(4), D-(2] (d) A-(3), B-(1), C-(4), D-(2) . :
88. \Which one of the following (Lake —Country)isnot  88. fi=iferfaa # &1 @i (sfier —<wr) wedr gford
correctly matched? | el 87 -
.y (& Maracaibo-  (B) Michigan - United (a) ARTHTZAT — (b) FrefTT — et
r) Venezueia ' State of America o I aReT
Onega - Canada (d) Baikal - Russia — . @& - Fer (d) % — W,
Who has written the book “From Dependence to  89- "mf 8w T wow Rema” gwe & o
~ Self Reliance”? ' ' g - |
C/  (a) v. Venugopal Reddy (bl Bimal Jalan (@) arE. JoriTe & (b) fawer e
(¢) C. Rangrajan (d) Raghuram Rajan » (c) &Y. IR (d) YERM ST
0. with reference to the representation of Uttar 90. H¥g % TwR Wow & wRiAfea @ oo #
Pradesh in Parliament, which of the following ferferfas sl ¥ Siar s & Ve -4
statement/s is/are correct? , B .
(1) Uttar Pradesh has 31 seats allotted for Rajya (1) =157 T0T B ferg STy Y 31 W smafea
Sabha, — gl
(2) 80 members of Lok Sabha are elected from (2) AFEA & 80 Heww SR WRW § faffd
Uttar Pradesh. _— A E|
Select the correct answer using the code given
below — e Ry 77 g | W IR g -
Codt - e —
(a) Only 2 (B) Neither 1 nor 2 N
(a) Fae 2 (b) = & 197 & 2
il iyl % Both 1 and 2 (c) Baet 1 (d) =¥} 172 2
[B-1-23] 153101 Page 18 of 32

10O



¢1. With reference to the Captain Hawking's, which 91 @7 #ffdw & e ¥ frforfem gl § 9

. - =
of the following statements is correct?
_———

(1) He came to India in 1611 as an envoy of

Y et
5—1. )
James | | ‘_L;__fé.. -
(2) He was very ‘fiel‘l versed in Turkish |anguage.7(/ (2)3® gaﬁ 7§71 q5A I g o1l
A Behuesd dece (6) Only 1 @7ariadz () @1
/) Only 2 (d) Both 1 and 2 (c) B 2 (d) S 1T 2
9. Which one of the following is the main objective 92 e § & B € oY e At
of Janani Suraksha Yojana? g S
& Reduction  in maternal and neo-natal (a) 71 g SR I T g R i 7
mortality rate .~ (b}mwﬂa—\fﬁm
ioni rtality rate onl '
(b) Reduction in maternal mo \al y rate only [ P
(¢) Reduction in infant mortality rate only % 3
) (@) Fae, 7w 5  §
(d) Reduction in neo-natal mortality rate only .
@ The resignation letter by a Judge of Supreme 9. Hﬂ?ﬁ e @ @ fﬂlﬂll‘:ilﬂll @1 -
Court is addressed to - wafi 2 € - ; ¥
= ‘{a) The President (oY The Chief Justice of (@) WAt @1 (_) HRA @ T
~ India ‘ AR Gl
() The grime Minister () The senior most (¢) JEFEE @Y (d) wdF=a e &
ﬂ
Judge of Supremeé o ol
Court
%4. With reference to Union Finance Commission, %4 W fa¥ g & v # fFreffe § @
which of the following statement/s - is/are P/ HU W B/ 87
correct? - mﬁﬂmﬁwawamw Wew B & |
(1) Finance Commi;ﬂon has a Chairman a‘nd %"_ (2) IE &9l rge Ay SmT @1 TRIq
members. e NITI Ad - 3 {
(2) It submits its report 10 1€ YOB. 2
Select the correct answer using the code given e R moge LA ng 9} @I T
below - -
Code - e - |
(a) Only 1 _~b) Neither 1 nor 2 (a) Fa9 1 )5 o 197 8 2
(¢) Only 2 (d) Both 1and 2 (¢) 3947 2 ) 4 290
95.
Hangul-deer is found in which part of India? 9. wrva B frg
T
(@) In Assam AT In Jammu and 27 W T 1 f%TUT RIRIREIG ||
Kashmir (a) argm 3 )
(¢) In Rajasthan (d) In Kerala (©) VIO & () Ridt 3R TN o
Mt e @ 3 §
[B-1-23] 153101 B AR
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96.

97.

With reference to the composition of the
Legislative Council in a state of India, which of the
following statement/s Is/are correct?

(1) In the Legislative Council there may not be
more than one-third members of the total
membership of the Legislative Assemblv of
that state,

(2) The Legislative Council of a state must have at
least forty members in it~

Select the correct answer from the code given

below- —

Code -

_1a) Both 1and 2 (b) Only 2
(c} Neither 1 nor 2 (d) Only 1
Tappa style of music was refined and developed
_in which of the following Mughal Emperor’s
Court?
(@) Akbar (b) Shahjahan
4] Muhammad Shah  (d) Jahangir

98. With reference of the election of the Vice —

President of India, which is declared void by the
Supreme Court of India, which of the following
statement/s is/are correct?

(1) The acts done by him as Vice — President

before such declaration are considered valid.*”

(2) The acts done by him as Vice — President on
the day of such declaration are not considered
valid.

Select the correct answer from the code given

below- —

Code - U

(a) Both 1 and 2 ] Only 1

(c) Only 2 (d) Neither 1 nor 2

Match list-1 with list-Il and choose the correct
answer using the code given below the lists -

List | List =i
(Archaeologlcal slte) (Present location)
(A) Nevasa _ (1) Rajasthan
(B) Isampur (2) Tamil Nadu
(C) Didwana — | (3) Maharashtra

(D) Gudiyam cave -2 (4) Karnataka
Code -
(@) A-(3), B-(4), C-(2), D-(1)

(b) A-(3), B-(2), C-(4), D-(1)

/‘k) A‘B); B-(4), Ejﬁ)' D-[Z)

(e A-{4), B-(3), C-(1), D-(2)

96.

a7.

98.

99,

arE # T oy § T iReE $ TS B ¥y

¥ e § @ PFT/Q B 9E B/

mwﬁmqﬁwﬁwmﬁﬁm@
| 8 B W ¥ | .

(2) 7@ ¥rog ) faur aRee # T | T Axdy
o a9 & B TRy |

41 Ry 7T ge ¥ FE I BT ITT DN -

‘m;e_

(a) BT 17 2 (b) el 2

(c) 7 &f 147 & 2 (d) daef 1

w@ifta & ear Y AefiReT § W B9 g

wHTe B TRAR ¥ qRepa Ud Awfad g37

(a) arFmax (b) STTEWST

(c) Hyewg W' (d) sreffiR

YRGB Swrgufa &1 fFaEd, e wEs

qrATed g1 379 Wi fhar war §, @ W §

e 9§ B |/ BT wE B/

(1) SIRIEUf & ©U A §9 ISR B =0T ¥ T
Su g1 g v prifafdr ag e #

(2) SRIEURT & T H 39 YHR B HNUT 21
@ o9 ewa g1 by U Bl a9
g &

e Ay T e F 9 SR @1 T iy -

ﬁ“‘a_
(8) S 1 & 2 (b) Hger 1
(¢) Baet 2 daarimd2
- B T ¥ GARvm IR e S fu
T e § wE IR gy —
- A
G“ﬂmm) (et W)
(1) RToTRRIT
:B;‘éwgv (2) TftrerTg
C) Srear (3) 7ERTSE
(D) T[f&A™ T (4) Ffes
@‘_

() A-(3), B-(4), C-(2L D*(H
(b) A-(3), B-(2), C-{4), D-(1)
(e) A-(3), B-(4), C-(1), D-(2)
(d) A-(4), B-(3), C-(1), D-(2)

B-1-23] 153101
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With reference to the SCO Film Festival-2023
which of the following statement/s is/arg:
correct? -
1, The SCO Film Festival is being held during

India’s  Presidency of the Shanghai
Cooperation Organisation, .~
9. 5CO Film Festival will showcase the films from

the SCO countries. ~__—
Select the correct answer using the code given
below -
Code-
(a) Only 2 (b) Only 1

(¢) Neither1nor2  _Ad) Bothland2
01. Which of the following statements is correct
about laterite-seit? |
(1) This soil is developed in areas_with high
temperature and hea rainfall—"
(2) Itis poor in iron oxide and aluminium. 3¢
Select the correct answer using t
below - '
Code -
(a) Both 1 and 2
(¢) Neither 1 nor 2
102. Which among the follo
the Constitution) is not €0

_Aa) Tribunals — Part XI
(b) The Union Territor
(¢) The Scheduled and Tribal A

(b) Only 2

_d) Only 1
wing (Provision = Pa
rrectly matched?

rt of

jes — Part vill
reas - pPart X

he code given =~

-

100. g efval, e wEKwa-2023 @ e A
ﬁﬁ%@ﬁﬂ?ﬁﬁﬁﬁﬂm/ﬁﬂtﬂ?/ﬁ
1-@%%#%%3@%3#

R Tads e welead I EOREEL

W Ve 8l
2. waEal e ewa o gaat aul @
et R s |
A R T g P ARG T I
T DG —
- .
() Baet 2 (b) Paet 1
©Fariad2 - (@IE 1792
At ot 3 & aovEe g @ e A
S AT HOFT WA 87
(1-)ugﬁé’naﬁﬁmﬁtzﬂ'm€raja?aﬁﬁﬁ
ey gt 2 . |
tz;wmﬁ;mmwmﬁwﬁ
4 ardy Sl 2 '
i forty g we @ WE IR A -
= - >
(a) ST 1T 2 (b) e 2
oadimAz @l
102.ﬁmﬁmﬁﬁﬁﬁaw(mmﬂ~ﬁﬁmaﬂ
) WE gafera e 87
{a)aﬂaﬂW—.mkl
(b) ey wrog &= — T Vil
(¢) arggfera S Tty & — HIT X
(d} RToTATET — |IT XVII

-

101.

103, Preferfaa Yl ® RER PR qoT ST

(d) Official Language — Part XVl ,
103. Consider the following deser*® and arrange them ' _
in increasing order of their size (from smallest to g STPR B a0 B9 § wgaReym P (I
.|8rgr—/est) — | B ¥ wH RwgH a9) —
(1) Great Sandy desert (1) I Aol Howd
(11} Arabian desert NELMLERIZSE
() Sahara desert (1) HERT s
(V) Gobi desert
Select the correct answer using the code given (IV) T} oeeret
ode) 11,1, v, i oLV ILIL (@ 1,1, v, 1 |
(©) 1, 1, I, IV L@, © 111 v ©) 1, 1v, 11, m
, o by 1, (d) 1, 11, IV, Il

[B-1-23] 153101
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104. g per Social Progress Index, released in
December, 2022, which of the following are on
top three positions in very high social progress in

Tier-1? e
~48) Pondicherry, (b) Mizoram, Himachal
Laksh -
,__adnegp and Prade;h an%,adakh
(c) Kerala, Nagaland 19) None of the above
and Meghalaya

105. Consider the following statements about
sustainable development -

(1) Based on the global indicator framework and
data produced by National Statistical
Systems and information collected at
reﬁa“_____w_eh_tbe United Nations Secretary
General presents an Annual Sustainable
Development Goal Reporty: —

(2) Global Sustainable Development Report is
produced to Infonn,mthe quadrennial
sustainable develc&-pmergt goal review
deliberations at the U.N. General Assembly
once every quarter, »4 '

Select the correct answer using the code given

below — I
Code - o
(a) Both 1and 2 {b)-Only 2

- (c) Neitherinor2  _i&) Only1

106. Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R)—
Assertion (A) -

Parliament. —

Reason (R) — A bill passed by the two Houses of
the Parliament cannot become a
law without the assent of the
President. .~ '

Seleet the correct answer using the code given

below -

(a) (A) is true but (R) is false

T} Both (A) and (R) are true and (R) is correct,

explanation of (A)

(c) Both (A) and (R) are true but (R) is not correct
explanation of (A)

(d) (A) is false but (R} is true

The President is a part of the

104.

105.

106.

faaR, zozzﬁwﬁwwﬁawﬁma

mwﬁm—lﬁ,ﬁﬁ%ﬁﬂﬁ@ﬁﬂﬂﬁﬁ

i wfe 3 i i e o §?

(a) yifeard, werEg sk (b) PEiRH, fRara
- g9l 3R TR

(o) B, ATTES AR (d) SudE # W B
Nerera Bil

ey e @ ded # FefaRad ey

faem Siferg —

(1) ¥as Gus wXFT T MK iy
Faerel gRT UNg U &P 3R
el gEm P MR W OHIF W
R ywga ava £

(2) ¥fRaw werviig e RO & formeh wyw
e & fawal & TRIae® v W @
ST

i fiy MU Fe & v e EE oW @

g HIfHg —

3.?—’ _ s,
(a) gFF 119 2 (b) Haet 2
(e) 7 ar1+-m &2 (d) Faer 1

A w FuH ¥ R A e 31 aifeuE (A
AN TR B BR (R) FaT T & —

- MBI (A) - Uy WE @A 2

PR (R) — 9T & g1 WAl gy qiRa fEee

| TRy Y FEHY B T e
T 2 |

T Ry 7w @1 w eve W ww @

T DI — 25

(@) (A) e & fbeg (R) Terer

(b) (A)3fR (R) & W ¥ o (R), (a) @ O
AT HYaT &

¢) (A) 3l (R) <1 weu & fabeg (R), (A) 9 0
e e Bl §

(d) (A) Tor & fobeg (R) W &

[B-1-23] 153101
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107, which of the following events was the last in
/ chronological order? la

————

(a) Home Rule yo¢ (B} Jallianwala agh vatg '

Movement Massacra

(c) Khilafat Mov%;%nt (dLMoplah Revolr=1 **2

108. which of the follo
b polluter?
Y. (a) Urine ~b) Pesticide
(c) Domestic waste (d) Faecal matter
109. The "Agenda — 21" of Rio Summit, 1992 is related

ing is' not a biodegradable

-

to -
(a) preservationof  _{b) Sustainable
#~  ozone Iayer’“’ *  development
(c) Polluter — Pays (d) Environmental
principle = education

110. pesert dwelling animals are called -

_Jla) Xericoles animals  (b) Terrestrial animals
(c) Arboreal animals (d) Fossoridl animals
111. Which one of the following place is the

confluence -of the river Alakhnanda and the
AlaKnNNancs
Bhagirathi? '
.
_Ja) Dev Prayag
(¢) Vishnu Prayag
112. seaweeds are important source of -

_~ADb) lodine
(d) Chlorine

(b) Karn Prayag
(d) Rudra Prayag

(a) Bromine
(c) Argon
113. Which of the following statements

regarding ‘Gram Sabha’?
(a) It has the powers and functions at the village
level, like state Legislature has at the state

level.
Writs powers are det
Government.
() 1t is a Village Ass€
registered voters in the area of
(@ (a) and (c) both
114 Example of Lotic ecosystem is -

is _not_true
—————

panchayat.

(&) swamps (b) Ponds
—=T¢) Rivers (@) Mﬂ___ma

ermined by the Central

mbly consisting of alIA

107
IR aifem ofr? b

(@) 8 Wt ot (b) wiferaran ar
(c) Reemea afeter  (d) e

108. fy=iforfes # @ #1 wr TAIfSISTe wgue el

&

(a) 7= (b) EreTaS
(")Wm (d)qaq-qu
. _gﬂ’f Ry wHIeH, 1992 T “Toe-21" WAl
(a) A A B (b) e frre &
HET |
(o) e — - (d) ot e ¥
fogia 4 :
110, Yfrear # SaRT G AR SR FEA € —
(a) wofemg wrtdy (b) ¥l SR
" (o) gl AR (d) et g9 el AR

1. fy=feriad ﬁ‘%ﬁm wF W e G
arfiRelt ) ferd 87

(a) 2 WM (b) T ST
(c) farmyp WA (d) & TATT
Fﬂﬂﬁmmﬁﬁﬁwmﬁ?
(a) A @ (b) IS ®
(o) st B - (d) FANE B
13, e e 4 W T T D o F DI
- e T8 87 :
{S)WWWWWWWWW
¥ 9 o SraenfieT § ST W W BN

112.

L #F ;
(b) g wfdedl @
g Bl &
(c) 7§ TP UM wR 3 w8, el durad @
ér @ Tl ot e e B ¥
- (d) (a) TRA (c) BT ' '
114'%%%3{ = %_
_(a)aaaa (b)m
() =2 (d) eres & (ATt
R

Wﬁuwa\,
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115. What was the name of the female Regiment
constituted as a part of the Azad Hind Fauj by
Netaji Subhash Chandra Bose?

(a) Bharat Mata ) Rani Jhansi

Regiment Regiment
(e} Rani Bhabani (d) Veerangana
Regiment Regiment

116. Which of the following Scorpene Class

Submarines was commissioned into Indian Navy

in January, 20237
(a) INS Vela (b) INS Kalvari
(e} INS Karanj ~4d) INS Vagir
117 Eastern boundary of the Harappa culture is
indicated by which of the following? . \
(@) Manda (b)-Rakhigarhi-
et Alamgirpur : (d) Harappa

118. with reference to 'PM Gati Shakti Scheme’,
which of the following statement/s is/are
correct?

(1) The PM Gati Shakti Schem&NatIonal Plan was
launched in 2022, **
(2) The PM Gati Shakti Scheme pertains to seven

115, Jamely g o 49 §RT AW B W 3
Ry @ wu § wfea wfeer WWrle &1 T T
o7

(a) e wrar Yorie  (B) & s Rvie
() =it warR Wrte  (d) IR X

- fyafefaa #§ 9 fra wida a0 @ g 5
ST, 2023 # AR T A WA

oy (@) AETATE. e (b) IMEAGH. Berary

> () SMETATH. F¥w  (d) ML.UA.UH. ariiR

g-f#ﬁﬂ%ﬁﬁﬁﬁmﬁwm#@ﬁ${ﬂm

@1 fwiRor Sear 87

(a) HroIT (b) TrEdTEY

(c) e iiRgy (d) g5wT

- figw, TRvf e B wet , Prefaie

R BT /W FUe wh g/

- (1) digH. TTRrfaa—Tsiy AT B g 2022

#H fomar ar o |

(2) IS FEERE UEY A (Tenddy) ¥

1083778

sl
-k
(%3]

b

1063?'&

engines (Roads, Railways, Airports, Ports, E I g9 (Fed, ¥, ’%’T\"ﬁé gexmEl, o
Mass Transport, ‘Waterways, Logistics % " HOR WEFI, Wa At eiR i
Infrastructure). NIP will be aligned with PM & sroreiverrati) & wafirr aReorIRY Grow, R
Gati Shakti Framework, < - Wit o @ W wirer ST |
. Select the co_gr:ect answer from the code given A e TS T -
below —
Code - R -
~t8) Only 2 (b) Both1and2 () et 2 (b) ST 1 8f 2
& (€) Only1 (d) Neither 1 nor 2 (¢) Fae 1 | (@) 57 @ 197 & 2
119.1n which year, “Mid-day Meal Scheme” was 119. “Fearg Wior Ao @1 “$T8. Gr9or dresr 4
renamed as “P.M. Poshan Scheme”? e ad gewifha e e
(a) 2018 (b) 2020 (@) 2018 # (b) 2020 #
_ (o) 2019 ~d) 2021 (c) 2019 # (d) 2021 %
[B-1-23] 153101 Page 24 of 32 7
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120. With reference to the “EL-NINO”, which of the
following statement/s is/are correct? Vo
(1) El = Nino involves appearance of warm

current of the coast of Peru in eastern pacific. .~

(2) This warm current increase the temperature

of water on the Peruvian coast by 10°C there
by increasing the amount of Plankton in the

sea. R
Select the correct answer using the code given
below —
Code -
(a) Neither 1nor2 &) Only 1 E .
(c) Only 2 (d) Both 1 and 2 5

121. shivanasamudra and Kalpakkam are respectﬁly
important for - -
};)‘ Hydel Power and
, Nuclear Energy
(c) Solar Power and
Nuclear Energy

————
122. According to the Union Budget 2023-24,
entres are t@-be

(b) Thermal Power and
'Nuclear Energy

(d) Nuclear Energy and
Hydel Power>

~ many skill India international ¢
set up across different states to skill vout@r

international opportunities? .

(a) 50 (b) 20
(c) 40 Ad) 30
123. First National Centre for Marine Biodiversity
(NCMB) of India is situated at - o
_la) Bhavnagar (b) Mumbar® F:
(d) Jamnagar 8 .

(c) Puducherrys= i
124. Which of the following is pot correctly matcHed?

n — Wife of litutmish

(a) Shah Turka
of Allaudin Khilji

2 b Hamida Banu Begum — Wife
(€) Jitutmish — Father of Razia
(@) Gulbadan Begum — Daughter of Babur ~
125. |n National Parks, Genetic diversity is maintaﬁéd
by - ) P
_@ In-situ conservation (b) Ex-situ conserva

(¢) Gene pool (d) None of the abowe"
h° was ‘Khareetadar’?
@ Despatcher of royal (b) Main custodian of
decrees " royal palace”™
(¢) An officer who was ' (d) Chief Officer of

trained in keeping Pargana 2o
accounts *°

120. "o @ wed § Prefafaa w3 @
B G/ HE & /87
(1) ari—+rY ¥ it s & H 9 @ de W
T eRreit @1 we BT Wi Bl
(z)aﬁﬂﬁquma%aaqumﬁﬁamﬂﬁaﬁ
10°caﬁmaﬁ‘f%.ﬁmﬁmﬁﬁam

Y 71 9 oIl &

ﬂ%mwwﬁﬂﬁwgﬁq-

qa_

@adar1d 2 (b)) Faw 1

(c) Pae 2 (d) gyif 1 7T 2
121.W@WWWWW

#

(a) wTer wifdeT Od (b) Trg Foil vd

I : ifaera &

(o) WX ofey 7@ (d) feEr Sl 7@
122, wsedty woTe 2023-24 % SR, ITRE ]
| a%mgm’fa%rm’mam'ﬁ#a’iﬁwﬁﬁﬁ

farg WY

(a) 50 (b) 20

(c) 40 (d) 30 |
123-%%%#%%&@@?@3@%

(g gadl) Red & —

(a) WTaTTR A (b) Hag

(c) ggad # (d) SR |
124, Preferfae § @ B W1 6E gAfera el 87

. (a) TR qFT — Fogarar B gl
(b) EaT 4T AT — ISTSE Rgersil B gl
() geqafe — <form & e
(d) Teraa 4T — R B G
125. i werrit 4 SMTgaifes fafderar o7 we-vam
e T § -
(a) S—re WRETOT BT (b) Yer—ie, ERETOT ERI

(c) ST T &1 (d) S § A B T
126. ‘@aER FIF o7
(@) BRAMT T Awi (b) YRR &1 T
o
() T (d) TR BT
feam—feae # HPET o
wdioy B e
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127.

Biological Oxygen Demand (BOD) is a standard
criteria for -

(@) Computing O; level in forest ecosystems
(b) Measuring O; level in blood
() Assaying O; level in high altitude regions

_{8 Pollution assay in aquatic ecosystems

128. Given below are two statements, one is labelled

as Assertion (A) and other is Reason (R) -
Assertion (A) — The Tamil Nadu coast remains dry
) during South-West monsoon
season.

Reason (R) — The Tamil Nadu coast is situated
‘parallel to the Bay of Bengal branch
of South-West monsoon and it lies
in the rain shadow area of the
Arabian Sea branch of the South-
West monsoon during monsoon
season. i

Select the correct answersusing the code given

below -

Code -

T

|

\},Bmh (A) and (R) are true and (R) is correct

explanation of (A)
(b) (A) is false but (R) is true
(c) Both (A) and (R) is true but (R) is not correct
explanation of (A)
(d) (A) is true but (R) is false

128. with reference to the joint sitting of Parliament,

{6+ Only 2

which statement/s is/are correct?
(1) Article 109 provides for the joint' sitting of
both Houses in certain cases.
L@/The Speaker presides the joint sitting of the
two Houses of Parliament,

Select the correct answer using the code given
below -
Code -

(b) Both 1 and 2
(d) Only 1

{(a) Neither 1 nor2

130. which of the following Scheme/Programme s

[B-1-23] 153101 ¢

‘1' \
il

not the Central Government Programme and itis .

Uttar Pradesh Government’s Programme?

(a) pt. Nehru Utkarsh  (b) Gramin Swasth ya
ission

Mission
(c) MGNREGA Ad) Ganga Expressway

127, dfaretfore st Rt (@ah) s

128.

fare U WS AFES 87

@ 7 TRReRw At ¥ st B wR g
o @ ferg

(b) ZaT ¥ SiffIoT B W B W B o

c;gammaaﬁrﬁanmﬁmaﬁm$
ferg

(d) el TRRefa® o % 459 3t ity & fiy

4 < wo & R vE BT AMH (A) R

¥R P BRVT (R) FET TN & ~

. g (A) — sE-uf¥EE AFRE AW §

129.

130.

SR dfferTg a¢ Yep Y 2
HINOT (R) — AT O T @1 WISl & A
@ gAY fer & ofR gfior—ufiem

AFGT P 3RE AR gResrr &7 4
fRera 21
=1 fRw v FHe 9§ WE 9T gAY —
a{d‘-
(@) (A) iR (R) &14F |7 . 3R (R), (A) @ §El
AT SRl &
(b) (A) T & fobeg (R) W &
(€) (A) 3R (R) ST Tg &, &fd (R), (A) & W@
ARAT T8l BT &
(d) (A} &g & &g (R) ToraT &
e o g 465 & weH ¥, FrfafRag wuA
7 e/ e wd g E
(1) e HB TWRI § HHE P T gel B
YT 40F &7 WU Svdr | "
(zlﬁmﬁaﬁﬂgﬁmaﬁmmvﬂﬁ
HT B |
A fRT T e # § wd e g -
- - 2
(@) 7 & 197 & 2 (b) 4T 1 qm 2°
() @aet 2 (d) Baer 1
freifafaa & & @19 w1 oriwa sl @@
P FRIHT T8¢ IR TE IR WG TR 9
o 87 g
(a) uf¥e #&% Iwpd  (b) wroT TRy fAeH
(d) 77T T A

(e} s
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{31. Natural resources should be used by the present

generation in such a way that if there is minimum
degradation of natural resources, then what kind

of development would it be called?

\VMa) Social Development (b) Sustainable
Development.
(c) Economic (d) Organic
Development

Development
o among the following'women freedom
fighter was not associated with ‘Quit India

& Movement'?
(a) Kanak Lata Barua
(c) Shanti Ghosh (d) Aruna Asaf Ali -
133. Which of the following Provision is a part of both

Directive Principles of. Sta_tg___P_o_l_iE_V‘ and

. Fundamental Duties?

(a) Participation of workers in managem
industries

(b) Uniform Civil Code S

(c) Guardians 10 provi
- education to children 2

protection of environment _
134. Which of the following (Port-Country
correctly matched?
\/(ﬂ')/lgarka — China
‘(c) Montevideo ~
jruguay ‘
135. The Constitution
use of English language fo
for a period of -
(a) 20 years
(c) 5 years
136. Which of the foll

Uttar Pradesh?
(1) Anuthee Uphar Schemé 2

?/' (2) Matra Shakti Udyamita Scheme
_ (3) Kaushalya Matritva Scheme
(4) Stree Nidhi Scheme

,\1 32,

(b) Matangini Hazra

ent of

de opportunity for

) is not

. (b) Jakarta — Indonesia
(d) Rotterdam -
Netherland

of India initially permitted
¢ all official purposes

the

(b) 10 years
Ad] 15 years

owing scheme/s is/are rel ated to

g the code given

181. S WA BT a9 T g TR @
WWW&WWWW
&R0 8] @ T8 BT a3 RET wee?
(a) W Ram (b) wad Raw
(c) anfife faare o) faw e

132, freforfig & & @ Afden W QA AR
oY s ¥ Wi T ¥

(a) 7 e o (o) AT S
(o) wife =1 (d) GV ST et

138, Freferre & @i s A e e
wﬁmﬁi&ﬁaﬁﬂ’fﬁrwmﬁ
(a)mﬁﬁ,mﬁmﬁmmﬁm

(b) A ARG R
< (c)mmmma%mm.

(d) qataReT 1 A
134, Pyt A 3 B

- (a) g — AT
{c)q*rueaﬁfaﬂ’r—m(d)
.135;wr<é’maﬁuﬁ#mﬁﬁm
'ﬁmﬁa%w’i?gaﬁvﬁma%
_,_‘.Hjﬂﬁfﬁﬁﬂﬁeﬁ?

(a'mﬁéﬁﬂ & gferd

(b)mﬁf—g‘gﬁﬁm
Sfexdn — AEXATS
sy & forg wdl
g & ferg

~ (0) 107
iy i (6 (d) 15T
136»ﬁq%1@ﬁﬁﬁmﬁm/ﬁwmﬁ
v g 8/87
(1) 38 SUER AT
(zlmfmﬁﬁ@ﬁmm
(3) Perean A A
it (4)Ffrﬁ1ﬁu’m=n»«

o Ry g e 9 SR 9T

" @) 2, 33N 4
~ (c) B 1

ltA(b)?«'T"'ffZSﬂ'\'g
(d) Bae 2

-~ “Select the cofrect answer usin
" below - =5
Code - e
2,3and 4 “\b) Both 2and 3
(c) Only 1 (d) Only 2

Page 27 of 32.

[B-1:23] 153101

T T



137. Chandraprabha Wildiife Sanctuary is situated in
which district of Uttar Pradesh?
@ Chandauli  (b) Sonbhadra
(©) Lakhimpur Khiri  (d) Baharaich
hich Indian origin businessman has been

elected as Mayor of London Borough of
Southwark for the second time?

(8) Gautam Adanix  (b) Sam Dalton

~{€) Sunil Chopra ¢ (d Neeraj Patil
138. Which one of the following (Place of the revolt of
1857 - Start of rebellion) is not correctly

i

matched? L L
< Jhansi-11May,  (b) Barrack — 29 March,
1857 1857 ,
(€) Lucknow -4 June, (d) Meerut— 10 May,
1857 1857 |
140. What caused wind to deflect towards left in
Southern Hemisphere? |,

(@) Pressure - (b) Temperature
—T€) Coriolis force (d) Magnetic Field

141. When did the Water (Prevention and Coritrol of
Pollution) Act was enacted in which of the

following year? A
(a) 1977 —t) 1974
(c) 1975 (d) 1976

142— With reference to mineral resources, which of
- the following statement/s is/are correct?
1. Lithium’s inferred resources have been found
in Reasi district of Jammu & Kashmir,_~"

137. T FTd SPARTY STR WR B 59 Tge
¥ Rera 87

J
g

(a) TrYeh (b) HITTR
'(c)a'@‘crg?@'ﬁ (d) gexTZ™
138. el o1 & fobe) ard) B HIoYaTs @ sy
R &1 HR gEA AR g T 7
a) T e (b) ¥ e
() et @i (d) v Tifee
199, Frrfirfad § ¥ @ v (1857 3 R P i
aﬁaﬂgﬁmﬁm *Tel Al 8 87
 (a). e — 117, 1857 (b) SRR — 2097,
1857
.(c)aw-wﬂ (d) #¥s — 107, 1857
1857 .
140. g Mt # gar &1 IRl AR RRfT B9 @
T PR 8P
(a) g1 (b) ToEE
() PRIfTH T () gy &5
4. o1 Rrum v ygEer frgE) alifew @
Fr=foiad & 9 o af gamgr T?
(a) 1977 % (b) 19743
(€ 197549 @ 19765
192. T wwgeT & Wl ¥, Frerfoes wom 4 9

B /A AR
L TP @ Rawt R 3 e @

YooR Claih) A AT W= S et & |
& I'rl\:iaui:h:mpa:.::;:enc:‘e; tfolrt mz:l minerals 2 W e f - it
e Lithium, Nickel an alt. elfors,  fe
Select the correct answer using the code- given @ forg o ox R 2
Sk, e %ﬁﬁﬂﬂﬁ%ﬁamgﬁq—
Code - w_e - |
(a) Only 1 (b) Neither 1 nor 2 (a) Bga 1 (b) 7 a 177 & 2
(c) Only 2 ~—4d) Both 1 and 2 (c) Faef 2 (d) g 1 3R 2
143. ‘Ozone layer’ absorbing ultra - violet radiation 148 RTiH fafeRor 1 el @e el e
exists in which of the atmospheric layer? R ﬁﬂ-’f ey W ¥ R g?_"
(@) Thermosphere  \ADP) Stratosphere (@) T HEw (b) W Ao
(©) Mesosphere (d) Troposphere (c) W Hew (d) &7 Hee |
B-123]1s3101 Pago 38af 33 1 T



\

144. \Which of the following is not a sustainable

development goal targeted to be achieved by
20307

(a) Gender Equality
(c) Good health and

~B) Space Research
(d) Zero Hunger

well being
145. \Which of the following is known as "World
Wetlands Day"?
~44) 2 February (b) 15 January

@World social Protection Report is published by -

(c) 1 February (d) 10 January

(a) world Economics {Lb) International Labour
Forum Organization

(c} world Health ~ (d) World Bank
Organization

147. Who composed the Golden Globe Award winning

song “Naatu Naatu”?
(a) s.S. Rajamouli
(c) A.R. Rehman

(b) Devi Sri Prasad
_id) M.M. Keeravani

148. Among the following, which country has declared

to remove the British Monarchy from its Central
Bank Currency Notes on 2™ February, 20237
————— i R

(a) Canada (b) Nepal
{c) Sri Lanka —td) Australia

149. Which among the following ruler of Kashmir

150. Which-one of the following (Tributa

d

{B:1:231 153101

abolished Zaziya and Cow Sl‘aughter?'
(a) Shamsuddin Shah  (b) Haider Shah

(¢} sikandar Shah ﬂ Zain-ul-Abidin
ry — River) is
not correctly matched?

(a) Malaprabha — (b) Hemavathi — Kaveri

_ ﬂ Pranhita =
Mahanadi

144, ;
Wﬁ#ﬁﬁﬁ?mwﬁiﬁmiﬁ]awqﬁ

146.

146.

147.

148.

149,

2. A% 2030 @ T @ @ weg v Ty 7

(@) ffirep FaTen (b) FFeIfRer ST
WelTE
e § 9§ o a7 fivg dedvew Rew” o w
H AT el 87
Aa) 2 mEEd (b) 15 w=ad
() 1 wast | (d) 10 Tt
fareq | Hwere Ruld wafera o ! & —
(a) fawg arffe = gwr(b) sFaxisra #H
' HTaq §NT

(c) fava warey He+ (d) fawg 6 g0

. BN |

TEATRR B —
(@) T, TS (b) 24 i vEE
(c) Q3R &AM (d) TH.gH.ARTEAT

2 oadl, 2023 @, Frefefan & @ e 2w A
ﬁ@ﬂiﬁﬂ#mﬁaﬁaﬁvﬁzéﬁ%ﬂm
@1 e @I HIYen BI?

(a) &=TT8T (b) =yaret
(c} sfreiesT (d) sifeferar
ﬁﬂﬁrﬁsﬁﬁﬁfﬁmﬁﬁmwﬁm
" gig 71T w1 EAT fHaAr?
(a) wr=gEIT ¥ (b) BEY WTE
' (c) R B (d) et eI

150.

(&) FTEAWHT — PO

ﬁmﬁmﬁﬁﬁﬂmm#ﬁ—ﬁ)w

gifera el 87 |
(b) EArEdT — HEA

(c) T — TEE (d) yroifgar — Weral -
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